Final Exam; F4360; December 9th; Fall 2004


Name ______________________________

Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  What keystrokes would you use in Excel to:  

a.  repeat the last action performed.
b.  change between worksheets in a single workbook.
c.  open the format cells box.
2.  If someone were to move into a higher tax bracket, what would happen to the pre-tax return that individual would demand on high dividend stocks?

3.  Briefly explain why too many shares will tend to be offered if a firm repurchases shaves using a tender offer.
4.  You have just purchased a stock on its ex-dividend date.  What does this imply?
5.  According to the signaling theory of dividends, what does management consider when setting the next dividend?

Problems/Essays

1.  What kinds of changes might cause the optimal amount of debt for all (or at least most) firms to rise?  Explain your answer.  
2.  How can a firm’s financial statements (or use of a firm’s financial statements) help resolve conflicts within the firm?

3.  Kiev Inc. has assets in place that originally cost $450,000 and which have a current book value of $250,000.  However, the present value of the cash flows that these assets are expected to produce over the next 15 years is estimated to be $650,000.  These assets were funded by stock and by bonds that mature 10 years from today for $600,000.  The standard deviation on these assets is 36%.  The risk of the firm’s assets causes the standard deviation of returns on the firm’s stock to be 45% and on the firm’s bonds to be 15%.  The firm is considering building a new facility at a cost of $85,000.  The facility would produce cash flows over the next 20 years with a present value of $100,000.  The project would be funded by issuing debt that matures in 10 years for $150,000 and by issuing additional shares of common stock.  The standard deviation of returns on the project is estimated to be 62%.  However, if the project is undertaken, the overall standard deviation of returns on the firm’s assets will only rise to 37%, the standard deviation of returns on the firm’s stock will only rise to 47%, and on the firm’s bonds will only rise to 16%.  If the project fails to generate cash flows as expected, the firm estimates that it could sell the facilities any time over the next 3 years for $50,000.  The Wall Street Journal reports that the return on Treasuries varies by maturity as follows:  1-year = 2.56%; 2-years = 2.92%; 3-years = 3.18%; 5-years = 3.62%; 7  years = 4.10%; 10 years = 4.54; 15-years = 4.72%; 20-years = 4.93%.

Based on this information, what will be the value of the firm’s assets after the project is undertaken?  Note:  this is NOT a short-answer problem.  There are several steps.
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4.  Chinese Aviation Oil (CAO) has assets with a current market value of $4 billion and is considering undertaking a massive new project in Houston with a value of $1 billion.  The returns on existing assets, on the project, and on the market as a whole (as measured by the S&P 500) will depend the economy as follows:


Return on:  

Economic State
Probability
Existing Assets
Project
S&P 500
Boom
.35
35%
12%
23%

Slow Growth
.45
11%
-5%
8%

Recession
.20
-10%
48%
-4%

a.  If the CAO undertakes the project, what will be the return on the firm as a whole for each state of the economy?

b.  If CAO undertakes the project, what will be the beta of the firm’s assets?

5.  How do security prices react to dividend announcements?  How might differences in information between various groups explain these reactions?  

6.  Stargulp Inc. is considering opening a new high caffeine frozen cola shop in Waco.  It will cost $300,000 to open the new shop in the Central Texas Marketplace.  Net, after-tax monthly cash flows at the new shop are estimated to be $5000 three months from today when the shop opens and are to grow by 1% per month through 5 years from today.  However, Stargulp estimates that $1000 of the net, after-tax monthly cash flows at the new store would have been realized anyway through sales at its existing stores throughout Waco.  If the beta of the new shop is 0.4, the risk-free rate is 2% and the market risk premium is 8%, should Stargulp open the new store?  Why?

7.  Assume that Divide Inc. currently owns manufacturing facilities in North Carolina and Brazil.  Assume also that Divide is considering building a new manufacturing facility in China.  Assume that management has indicated that over the next few years they expect that the return on the Brazil facility will exceed the return on the North Carolina facility and the facility in China is expected to generate an even higher return than the facility in Brazil.  Explain why stockholders might become worse off if the facility in China is built.
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